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RC

50

20

2.00x 10°N/mm2

2.75% 10'N/mm2

200mm

3850mm

k1

1.0

€ "csd

150x 10°

200mm

50mm

frck

29.4N/mm2

yc

1.30

y b

1.00

PO

125kN

100kN

0.07835

1.52000

1.23660

1.10

/m

40mm

19mm

SN

160mm

19mm

oo}

57mm

16mm

ol

143mm

16mm

/

365873

50
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Psx0

327._7kN

Psx

283.7kN

Psx/Psx0

1.0

0.95 1.0

0K

Psx

348._7kN

Psx/Psx0

1.0

1.17 1.0

NG

Psx

304.8kN

Psx/Psx0

1.0

1.02 1.0

NG

Psx

374 _7kN

Psx/Psx0

1.0

1.26 1.0

NG

15.9N/mm

11.8N/mm

0.74 1.0

213.0N/mm

235.0N/mm

1.10 1.0

17 .5N/mm

11.8N/mm

0.67 1.0

314 .8N/mm

235.0N/mm

0.75 1.0

0.26mm

wa

0.15mm

wa/w 1.0

0.58 1.0

0.62mm

wa

0.25mm

wa/w 1.0

0.40 1.0

NG
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ds=143 mm

B=b+2d.=200+2x 143=486 mm
X,=56mm RC
Co=40mm

T =0.252(F a/ly )-0.00246(F o/y o)
=0.252(29/1.3)-0.00246(29/1.3)"
=4_44 N/mm’

0 w=0.271(Faly )?*
=0.271(29/1.3)*"
=2.17 N/mm?

Poo=2B(T mx XotO max  Cu)/Y o

=2x 486(4.44% 56+2.17x 40)/1.0
=327702 N =327.7 kN

log(Po/Ps)=-k logN+logC

log(125/P+)=-0.07835x 10g7317460+logl.520
=-0.35598

125/P.=0.44058

P.=283.7 kN

log(125/P.,)=-0.07835x 10g7317460+l0gl.237
=-0.44559

125/P,=0.35843

P.=348.7 kN

log(125/P.)=-0.07835x 10g18293650+l0g1.520
=-0.38716

125/P.,=0.41006

P.=304.8 kN

log(125/P.)=-0.07835x 10g18293650+l0g1.237
=-0.47677

125/P.,=0.33360

P.=374.7 kN

ds: mm

B: mm
Xu: mm

Powo: kN
Pex: kN
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M=w L?=6.025x 3.850°/10=8.93kN-m/m

M.=(0.12L+0.07)Px {1.0+(L-2.5)/12}
=(0.12x 3.850+0.07)x 100x {1.0+(3.850-2.5)/12}
=59.19 kN-m/m

Md1:y fp(p p Mp)+y fr(p fr Mrl)
=1.0x (1.0x 8.93)+1.0x 1.0x 59.19
=68.12 kN-m/m

M,=(0.10L+0.04)P
=(0.10x 3.850+0.04)x 100
=42.50 kN-m/m

M=y «(P & M)

=1.0x 1.0x 42.50

=42.50 kN-m/m
0 =0.4f,=0.4x 29.4=11.76 N/mm’
0 «=F4=235.0 N/mm’

O N/mm?
(o N/mm?

w=1.1 ki ko ks{4ct0.7(cs-@ )}(O /E+E ")
k:=1.0

k,=15/(f :+20)+0.7=15/(29.4+20)+0.7=1.00
ks=5(n+2)/(7n+8)=5(1+2) (7% 1+8)=1.0

c 30.5 49.5
Cs 125 200
(0} 19 16
(o 213.0 314.8
Es 2.00x 10° 2.00x 10°
€ 150.00x 10°|  150.00x 10°
w 0.26 0.62

FORUMS8
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